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09. Read the passages below, and follow the directions. [4points] 10. Read the passage and follow the directions, [4points]

<A
Ms. Song’s Teaching Note

My students, 2nd graders in a middle school, are mostly low intermediate levels. That’s why they
frequently make errors in most speaking activities, and, also, easily encounter communication
breakdowns. So, I decided to teach some compensatory strategies such as approximation,
nonverbal signals, foreignizing, circumlocution, and word coinage. These compensatory strategies,
I believe, can make up for their limited English proficiency. Today, I prepared a role-play activity

to help them practice the strategy they learned last week. Below is part of the activity procedure.

(B>

Activity procedure

1. Ss in pairs (Student A, Student B) are given a deck of role cards on which roles of Ss in diverse
communicative situations are described. Each situation contains at least one communication
problem, and Ss have to use a proper compensatory strategy to cope with the situation and
complete the activity successfully. Examples of role cards are shown below.

Role A Role B
- You are an English learner. - You are a native English speaker.
- This Sunday is your wedding anniversary. - You live next to an English learner.
- You don’t know the word, anniversary. - Have a conversation with the English
- Invite your neighbor to your home party at learner and figure out what he/she tries to
5 p.m, Sunday. say.

2. Ss choose one pair from the deck of cards and engage in a role-play while performing the roles
designated by the cards. For example, when given the role cards above, Student A plays an

English learner and Student B performs a role of a native English speaker.

[Example]

Student A: Hi, Mr. Green! How’s it going?

Student B: Hi, Sungjin. Same old, same old. You?

Student A: I am good. Well, do you have any plans this Sunday?

Student B: This Sunday? Probably.... nothing. Anything fun?

Student A: Yeah. It’s ... it’s a special day. Janny and I got married on the same date last year.
So. I want to invite neighbors and have a home party.

Student B: Oh, you mean the day both of you got married? We say it’s the anniversary!

Great! What time?
Student A: Around 5. Can you make it?
Student B: Five. Cool!

3. After completing the role-play, Ss choose another pair from the deck of cards to start the next

role-play.

4. Role-plays continue until each pair of Ss completes 5 situations.

Among the types of compensatory strategies in <A>, choose the ONE that students
can practice through the activity in <B>. Then, write how Student A prevents the
communication breakdown to be expected, and cite the concrete utterances related
to the identified strategy from [Example]
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Students can practice a circumlocution strategy through the role-play activity in
<B>. According to [Example], Student A does not know the exact target word,
[2HERH ‘anniversary’. However, he prevents the communication breakdown by explaining
(describing) the unknown word, like “it’s a special day. Janny and I got married on
the same date last year”.

1. The answer to choosing the ONE that the students can practice through the
activity in <B>: circumlocution strategy (2 points)

2. The answer to writing how Student A prevents the communication breakdown to

[ME7I=] be expected: Student A explains (describes) the unknown word (1 point)

3. The answer to citing the concrete utterances related to the identified strategy
from [Example]: “it’s a special day. Janny and I got married on the same date

last year” (1 point)

The Tipping Point is the biography of an idea, and the idea is very simple. It is that the best
way to understand the emergence of fashion trends, the ebb and flow of crime waves, or, for that
matter, the transformation of unknown books into bestsellers, or the rise of teenage smoking,
or the phenomena of word of mouth, or any number of the other mysterious changes that mark
everyday life 1s to think of them as epidemics. Ideas and products and messages and behaviors
spread just like viruses do. The rise of Hush Puppies and the fall of New York’s crime rate are

textbook examples.

Although they may sound as if they don’t have very much in common, they share a basic,
underlying pattern. First of all, they are clear examples of contagious behavior. No one took out
an advertisement and told people that the traditional Hush Puppies were cool and they should start
wearing them. Those kids simply wore the shoes when they went to clubs or cafes or walked the
streets of downtown New York, and in so doing exposed other people to their fashion sense. They

infected them with the Hush Puppies virus.

The crime decline in New York surely happened the sameway Itwasn’tthatsomehugepercent
ageofwould-be murderers suddenly sat up in 1993 and decided not to commit any more crimes.
Nor was it that the police managed magically to mtervene in a huge percentage of situations that
would otherwise have turned deadly. What happened is that the small number of people in the
small number of situations in which the police or the new social forces had some mmpact started
behaving very differently, and that behavior somehow spread to other would-be criminals in
similar situations. Somehow a large number of people in New York got infected with an anti-

crime in a short time.

Fill in the blank with the ONE most appropriate word from the passage. Second,
explain what the underlined “the same way” means.
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The word is virus. Second, the imitation or spread of behavior affected
[2=Eel the crime rate in New York just as the fashion of wearing Hush

Puppies was spread through 1mitation of others’ fashion.
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